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O A2 2 19,716
SIEE 36,6402 *1% +3132 11,469
4013 11,469, 00021 * 124 *1/12%300% 2,868
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Oglgdstd ™R 7 2=ZHl X 3AH2MHA)
30,000,000& » 14! 30,000
Ogld 22X =2 & X2 AH(L=400m)
100,000, 000& * 14 100,000
0oy A1l =2 ZEH I3 AH(L=200m)
30,000,000& » 14! 30,000
Odd 252 =2 M3 A(L=170m)
100,000, 000& * 14! 100,000
Od 2422 sAE gerad &X
70,000,000& » 14! 70,000
O2A AMA52l == &l (L=150m)
50,000,000 » 14! 50,000
O2& &Atel == bl (L=100m)
30,000,000 =14 30,000
O2#& &Atel &2 &4l (L=200m)
50,000,000 » 14! 50,000
O2A &Ael sti+==2 Fdl(L=250m)
50,000,000 =14 50,000
OUs =l 222 s EZE 2 AH(L=450m)
90,000,000 » 14! 90,000
OUls Eiel a2 S 2 X3 AH(L=110m
) 30,000,000& » 14! 30,000
Osdl A2 =& 283 EXSM
40,000,000& =14 40,000
Osoll alFyee| LeradE EIT A
70,000,000 =14 70,000
Osofl 412l S22 & X2 AH(L=200m)
50,000,000 =14 50,000
Osofl 2212 Sti+=2 & X2 AH(L150m)
45,000,000& » 14! 45,000
OFIl 22 dE(BUS)s2LEY B2
A 40,000,000 » 14! 40,000
OFI F&el =2 EZE3AH(L=250m)
40,000,000& =14 40,000
OFI| &gl =2 EE 3 AH(L=300m)
48,000,000& =14 48,000
Os0l2 te2el 1X7 Sti+==2 &I (L=400m)
70,000,000& » 14! 70,000
Os0l= ZAtee] get2dE &X
70,000,000& » 14! 70,000

_36_




2N
X ZH -
L= B

el

- _ _ RE]
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OS8 ABHE Nota G A
12,000, 000 = 1Al 12,000
O=SMAD B ALY A Al & A HI
30,000,000 = 1A! 30,000
O=xclAld W2 50,000,000 50,000
OstoltiHl B8t dE 22 50,000,000 50,000
03 AlE 201 Y| 3,919 4,685 N\T766
OsSMAD|BFXH ALY AlA 20|
1,555,000,000& *0.36/100%70%< & 2> 3,919
402 SI2F X201 & 50,000 50,000 0
w 20,000
Al 30,000
01 QI8 X 50,000 50,000 0
OZclHzx=elAld S22 (01Y)
50,000, 000& 50,000
w 20,000
Al 30,000
™ UL HH (EX) 57,600 53,000 4,600
& 6,000
Al 51,600
206 M = H| 57,600 53,000 4,600
= 6,000
Al 51,600
01 X2 H| 57,600 53,000 4,600
O2d & 24J| HdlH| 57,600,000 57,600
= 6,000
Al 51,600
Mo -S4 AI&EH (BX) 381,916 364,560 17,356
& 114,000
Al 267,916
401 Al HI L £ 0HHI 381,916 364,560 17,356
& 114,000
Al 267,916
01 Al& H| 380,000 362,530 17,470
OXD| Otslel EHi22 A (L=30m)
100,000,000 = 1A! 100,000
& 30,000
Al 70,000
Ols =2l 2642 Ad|(L=200m)
80,000,000 x1A! 80,000
=} 24,000
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O30l2% 212l 242 =l (L=400m)
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Al 70,000
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el S M ATy (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Oc2d =22 8Hi+2 ¥ tes2 B0l(L=20
Om) 100,000,000 = 14! 100,000
< 30,000
Al 70,000
03 Al 20| 1,916 2,030 A 114
OTHE Ol 2 = S 421 Al & HHI AL Al & = CH bl
380,000,000 *0.72/100%70%< & 2> 1,916
CEQAEHEXNTH(BEX) 170,857 219,492 N 48,635
= 51,000
Al 119,857
401 AlEHI 2 24| 170,857 219,492 N 48,635
o=t 51,000
Al 119,857
01 Al&H| 170,000 218,274 N48,274
Odd S| S MEx SAt
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& 18,000
Al 42,000
Osdll 22 =x8X MHEx BA
60,000,000 14! 60,000
& 18,000
Al 42,000
O&J &Xel REX HES ZAH
50,000,000 = 1A! 50,000
& 15,000
Al 35,000
03 AlE 20| 857 1,218 A 361
OLZ=/AE =X EHI ALY AlE 204
170,000, 000 «0.72/100*70%< & 2> 857
Ha=XMEEHY (EX) 9,500 9,000 500
= 2,923
Al 6,577
401 AlEHIZ £ 0HY| 9,500 9,000 500
= 2,923
Al 6,577
01 Al&EH| 9,500 9,000 500
O2U M£=X M A 9,500,000 14l 9,500
o= 2,923
Al 6,577
ZSTHAAMEIZAISSEIX XN (EX) 1,200 1,200 0
= 1,200
201 LEr2 Y| 900 900 0
= 900
01 AR 22l ] 900 900 0
O1.Yet=24| 900
A EsEEr2 300,000 *33] 900
= 900
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SH: gRMAD
HE: QAW S SYHS /LY - 4E)
el s xR EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
YPFMAH UG (sHLL/YY - &E) 5,615,860 5,503,652 112,208
2 1,377,705
& 29,085
< 402,724
Al 3,806,346
At THR 2tel 2,060,376 2,454,794 A 394,418
2 783,609
& 29,085
= 197,141
Al 1,050,541
ST H A2 548,899 622,457 AT73,558
101 1244 dl 81,512 54,798 26,714
04 JIZHHZ2Z2XRHEE S 81,512 54,798 26,714
O2AE sSXAIE 2el & el o2t
54,5003 5% «100 27,250
OJz+ 2l & eI Xel 2t
54,500 5% «100 27,250
O2AZ 212 MEXel el
54,5003 x2H 2 33| 654
Ozt Bus UsHE MHEE ANUSSTE
oIl 54,5003 x5H x5 1,363
OstHddHMEId(sx58H)2el 22|
38,880& x1H x150 5,832
OS0l=2 i=2XMX E5 L 2 12|
38,8803 1«60 2,333
OLELE HENHSSESR 2l g2l
38,8803 x1H +x220 8,554
C4liEd JI2RES 73,236,000& *11.3% 8,276
201 L2l 25,561 27,944 AN2,383
01 At 22l 15,511 19,719 A 4,208
O1.4et=EHl 2,745
-—=X#E JlEt==EHl 2,000,000 2,000
-SHMEHMSSEY SSHEFAY Fox FAH
100,000& »23l 200
-2 MESEE FUAY PHAME =2
36,300 x15A 545
O5.2 &l 2,016
—MENE HRFE LI REXN =4
7,0003 «3H«8 128 2,016
O6.2xt=z 10,750
-2 ESHSAMY ¥ ZZHEXZH SR
SrAg A= 250,000 * 1CH*8L *23] 4,000
-t2a, =X, A4S THAHAIE FHl ZH X
=3 250,000 *1CH»52 33| 3,750
-2 RI| BME OsSEMEE AY2s &
g Ix= 200,000 *3CH 5 3,000
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SAN: R
HE: QAW S SYHS /LY - 4E)
el MR (B9 ®R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
02 3294l 10,050 8,225 1,825
O1.2Z2222HA 2,600
Sl ENES2d(=s5EH) 28322 2,400
ZEsIN 2 BOS @IIR3
200,000& x12& 2,400
-SoAE SR & M EE€E
200,000& *13] 200
O3. A& &Hl s Xl 7,450
~TAISsSAIE S22 EH & 4,450
* Fes 1,700& *x2,000¢ 3,400
1] 3,500& *3004 1,050
~-ZAIsSHAIE S22 &d =&
50,000& x4& *153] 3,000
202 04 d| 2,700 4,560 A 1,860
01 2L Y] 2,700 4,560 A 1,860
OLZE At AL =X 4 H]
60,0003 »3H 3 53] 2,700
206 M = dl 34,910 36,410 A 1,500
01 &2 bl 34,910 36,410 A 1,500
O=2EZAFAMNY 25 N 2 10,170
-Adas= 40,000& 1502 6,000
-X3 R 1,000& *x2,000= 2,000
-XEE 15,400& x50 m* 770
-MREFNAE Hl S 7,000 x200 & 1,400
OI}PILAE HEE ARI2S 2AS TXY
2 10, 000& x50 x4 = 2,000
OsX&e M NsSAE2sS U 2L 4,750
-AHHM OHLHE X T 3,000,000& *1JH &~ 3,000
-MEEXE HaEs 2 7,000 x250 % 1,750
OJl24 S sIAE dalsgide 272
A= 4F) 4,600,000 4,600
OJgs & =XAME sA22 AH 2L 5,250
-2OIE2 XNF==2(AH2) 21,500& 100 = 2,150
-“SWWII2 ANFES(220l) 12,5002 x 100 = 1,250
—=X1Ze s HM(s32 2801 5)
10, 000& *4E x20H 800
2 L JI2gH 25 MEZIAE H =
- 7,000& x150 &L 1,050
Otz 22l HEY |RF4
1,700& *x40f 1Y *20L 1,360
OE LIRY) daNE 2572
11,300& x6002 6,780
401 Al HI L 2T 402,016 494,895 A 92,879
01 Al&HI 400,000 492,000 A 92,000




SH: gRMAD
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- _ _ RE]
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OFREZYH Z2FIIEx B4
20,000,000 = 1A! 20,000
OJI24 =% EHAY 20,000,000& = 14! 20,000
OJ25s & =X S (SHMEZY,
SO, P L2 MA) 50,000,000& x 14! 50,000
OJ|gsdt)l £E2 ELZ2C Ji2&td ors)|
20,000,000 14! 20,000
OE2H II&2l% 3eXA 20,000,000 =14 20,000
Ol SOl AF L& HHIAY 20,000,000 14! 20,000
Osdl~=0lx=2 &= EHDI| 20,000,000 14! 20,000
Os0|=2 oot GllEsSAT L ESAIAE
20,000,0002 *14! 20,000
OSHMPHSIH 2HE Al
10,000, 000& = 1Al 10,000
OXD| 24t Ot Y2 JtRI| ALY
30,000,000 14! 30,000
Ol 2 Ji2ste HHIAFY 20,000,000 14! 20,000
OLLNHA MeZ IJFRI| A
20,000,000 x1A! 20,000
OSY JI24 & =XAE seYHHSEHAIY
20,000,000 x1A! 20,000
O824 JI2s & =10 AL
20,000,000 x1A! 20,000
O8% 24 2 =X Y25 HHAL
20,000,000 x1A! 20,000
03 Al 20| 2,016 2,895 AN 879
O=sXZZAMS AIZ=20UI
400,000,000 *0.72/100%70%< & 2> 2,016
405 KHoaHFE S HI 2,200 2,800 A 600
01 XA 2B F S| 2,200 2,800 A 600
Oulx2l ¢ 400,000 *2CH 800
OJIAE #¢ 700,000 *2CH 1,400
=JIRIIAL(EXR) 1,291,524 1,591,453 A 299,929
= 722,822
& 170,609
Al 398,093
101 Q121 H] 88,502 177,009 N 88,507
= 53,101
& 10,620
Al 24,781
04 JI2ZtHIZ22NEE S 88,502 177,009 88,507
O{HEHIOI QA =8 EE oA
71,092,000 71,092
= 48,046
& 9,609
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= H W
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02 Zeldl
O IHFIIAY
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AN RS0
HE: AW U5 (sHoHLa/PH - ME)
el s xR EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oz RIING & Za X0l ALY AE20
=] 1,134,090, 000& *0. 36% 4,083
AT HZLULHSA(EX) 3,120 3,120 0
= 936
Al 2,184
101 @144 dl 3,120 3,120 0
< 936
Al 2,184
04 JIZtHZ2XEES 3,120 3,120 0
O ZeIUEHE S oAl 2,803,000 2,803
= 936
Al 1,867
C4liE" JIA2RES 2,803,000& *11.3% 317
Y2 (EX) 7,800 7,914 A114
2 5,460
< 468
Al 1,872
101 @144 Hl 7,800 7,914 A114
& 5,460
< 468
Al 1,872
04 JIZHHZ2XREES 7,800 7,914 A114
O el el 7,008,000 7,008
= 5,460
< 468
Al 1,080
OC4liE" JI2RES 7,008,000 *11.3% 792
P (ExX) 33,750 28,350 5,400
& 23,625
< 2,025
Al 8,100
401 AIEHIZL 2 0] 33,750 28,350 5,400
& 23,625
< 2,025
Al 8,100
01 A& HI 33,750 28,350 5,400
OY T8 2(7.5km) 33,750,000 » 14! 33,750
& 23,625
< 2,025
Al 8,100
ESEIEES 75,283 131,567 156,284
2 16,787
< 6,303
Al 52,193
401 Al HI L 2 T 75,283 131,567 156,284
2 16,787
< 6,303
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43,273
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01 ML ESFHSH 88,000 24,000 64,000
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= N W
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U AW S (SHALSA/ALY - HE)
Chelr A TR 2t (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 3,600
Al 8,400
MEESSY 2,387,939 2,364,137 23,802
= 128,513
< 107,049
Al 2,152,377
&= 2RI CH 2 372,221 308,449 63,772
101 1244 Hl 230,608 140,911 89,697
04 JIZHZ22XREE S 230,608 140,911 89,697
Ot=sZAXNS Q32 E MAMY 12AH|
54,500 20 x40 43,600
C4UiEY D223 43,600,000& *11.3% 4,927
OUMEXSIIH(ZAH MSUHA) 2AZZH|
968,502,000 x1% 9,686
O&EZAIY L=l 18,795
—MEASE 110,000& 105X 11,550
-2 Xt 5,000& 105X 525
-E2X)) 25,0002 105X 2,625
-otM of 35,000& 105H 3,675
-SRI ¥ 2E 4,000 *1059Y 420
Ott=2Z Al (=Y Xtel &E) 153,600
] 200,000 *80H 9= 144,000
-28 & 203 120,000 =80 9,600
201 et 62,027 67,562 A5,535
01 At 22l 32,060 47,460 A 15,400
O1.4et=&Hl 6,900
-MBES(ME) JIEt=EHI 3,000,000& 3,000
“SrEXa & AXESE 2tE Fh|
120,000& 20K 2,400
-2 (M)SIh ==2 50,000 »30CH 1,500
O4.101 =54l 1,000
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7,000 120 «152 12,600
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O1.332LHA 3,840
—MEROZAISNHE LHUAES
35,0003 +73| & +12& 2,940
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01 = tl 6,500 9,112 AN2,612
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5,000,000& 5,000
301 AP B A 44,486 43,964 522
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- sl 2,4003 10 »22 x 128 6,336
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SH: gRMAD
HE: QAW S SYHS /LY - 4E)
ool MERERY EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ON=2 83 s3 212tol MGl Xl 2 HI
500,000 x2H 1,000
305 HHAZ2S 500 500 0
01 A 2SS 500 500 0
O/t AFHE A & 1001 BEAZ 50,000& *x10H 500
401 Al HI L 2 0HHI 10,000 20,000 A 10,000
01 Al& H| 10,000 20,000 A 10,000
OMEEZANE B 5,000,000 *2JH & 10,000
405 XHo&HF S HI 13,600 21,000 ANT,400
01 XA 2 ZF S| 13,600 21,000 NT,400
OMEZAIE Hotd ¢l 500,000 =11CH 5,500
OMEligias sE22) U (S, &)
™) 3,500,000 «24 7,000
Ot 2ZAIE Hetd] 2l 100, 000& = 11CH 1,100
AR CHZE X (24]) 256,982 430,532 A 173,550
= 102,788
& 46,269
Al 107,925
101 e1214| 213,927 208,423 5,504
= 85,572
o 38,507
Al 89,848
04 JI12ZtHIZ22NEES 213,927 208,423 5,504
ON=d20e XSO 2l 2dd| 157,500,000& 157,500
= 70,082
= 31,537
Al 55,881
ONM=sd20e Xl Z&EE
250,000 x2H 500
= 200
& 90
Al 210
O 0382 =4 oA
38,225,000 38,225
= 15,290
= 6,880
Al 16,055
O4EE JI1a28=2 17,702,000& 17,702
201 et 27,555 19,810 7,745
= 11,016
o= 4,972
Al 11,567
01 AF 22| H| 16,515 15,000 1,515
O4.10124| 10,015
-AME2YX SAK 2E=2 10,015,000& 10,015
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=
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4,000
1,815
4,200

O5.=2&Hl 2,500
-2 23 Z 4l 2,500,000& 2,500
1,000

450
1,050

O6. 9 xt= 4,000
-MESE ESXE SR 4,000,000 4,000
1,600

720
1,680

]l 11,040 4,810 6,230
Al 5,200
“SEZAE AXNZRAIAB(SAZ)

130, 000 *40H 5,200

,080

936
,184
,000

,000
,000
900
2,100
O4. Xt & . & 2l 840
840,000 840
336
151
353

= H W = Hn W

= M W
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no

= N W

O3. A€ ZHI =Xt
—MERUAZ AN FAE2= 5,000,000

= H H
N o N
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op
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Z W

202 o4 Hl 2,000 8,200 26,200
800
360
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=z N H
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H
=
M 2
==
N

,000 8,200 A 6,200
20,000& 100 2,000
800

360
840

O
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M
o
o

= N

206 M= Hl 10,000 10,899 A 899
4,000

1,800
4,200

= N W

01 = dl 10,000 10,899 A 899
Ol &3t &I 500, 000& 20 10,000
4,000

1,800
4,200

= N H
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A ERAH D
HE: QAW S SYHS /LY - 4E)
Sl NYUEEEY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
405 XHAHFIEHI 3,500 182,200 A 178,700
2 1,400
& 630
Al 1,470
01 XAt 2 E F S| 3,500 182,200 A 178,700
OJlH 3 AtSES AIAE(ASH) 3,500, 000& 3,500
= 1,400
= 630
Al 1,470
AT A (EH) 1,298,233 1,196,283 101,950
= 60,780
Al 1,237,453
101 e1218| 1,111,333 1,077,943 33,390
= 34,000
Al 1,077,333
04 J|12tHIZ22NEES 1,111,333 1,077,943 33,390
OMSZAIE 21 A4H| 998,502,000 998,502
& 34,000
Al 964,502
O4H8E J1a82g=2 998,502,000& *11.3% 112,831
201 et 23,400 6,580 16,820
& 4,680
Al 18,720
01 AR 22l ] 15,000 0 15,000
O1.Bt==H| 15,000
-MEYRFA AUt 2| 2,000,000& 2,000
= 400
Al 1,600
pEE EEE EFs Y 3,000,000& 3,000
& 600
Al 2,400
Q=AY 2282 MK L 2EU S
2,000,000& 2,000
&< 400
Al 1,600
-MAENY EEE 2EIIE Y
3,000,000& 3,000
& 600
Al 2,400
—APERA AR L FH 40 3,000,000& 3,000
= 600
Al 2,400
-QUAMEHM 82 M 2,000,000& 2,000
& 400
Al 1,600
02 2224 H| 8,400 6,580 1,820
Or1.83222HA 8,400




SH: gRMAD
HE: AW U5 (sHoHLa/PH - ME)
ool MERERY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
“MEZAE AXNZHAAL (SAHF)
140,000& »60CH 8,400
< 1,680
Al 6,720
202 o4dl 3,000 0 3,000
= 600
Al 2,400
01 = LH o4 4l 3,000 0 3,000
OUMESHZ0 ST 2el bl 3,000,000& 3,000
< 600
Al 2,400
206 = Hl 108,500 84,760 23,740
= 11,100
Al 97,400
01 =8l 108,500 84,760 23,740
OJel&lst ZHIAME 200,000& *60AI E 12,000
< 2,400
Al 9,600
OXN &G A H 2 3,500,000 3,500
< 700
Al 2,800
OKSNBHY(SHEIZL )Y 28,000,000 28,000
< 5,600
Al 22,400
OUEZANE 83 |FFHI 65,000,000 65,000
< 2,400
Al 62,600
301 et a3z 1,000 0 1,000
< 200
Al 800
10 HALAHI 242 1,000 0 1,000
OdEULEZASHH W= WY 1,000, 000& 1,000
< 200
Al 800
401 A& HIZ 201 Y] 10,000 0 10,000
< 2,000
Al 8,000
01 A& HI 10,000 0 10,000
OUEZAAE(ZAEL) BAH 10,000, 000 & 10,000
< 2,000
Al 8,000
405 TtabF S| 41,000 27,000 14,000
< 8,200
Al 32,800
01 AL EFH S 41,000 27,000 14,000
OUXNERNSLEIN(0IEXE) 900,000 «10CH 9,000
< 1,800
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SH: gRMAD
HE: QAW S SYHS /LY - 4E)
ool MERERY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-SE5E 22k 12,000
=8 M3 50,000& 12& 600
S M3 50,000 *12& 600
Bots dIIes= 500,000 = 12& 6,000
sS=U =23 100,000& =12 1,200
S =223 300,000& »12& 3,600
O3. A€ ZHI =Xt 4,000
55858 2ots AL 100, 000& 40K 4,000
206 M= Hl 8,300 8,300 0
01 =8l 8,300 8,300 0
O&&sd Al UM (&5 55)
10,000& »150& 1,500
O8csE Ms - HYAMEE ETM 72 (d
celEelllel 198) 100,000& 203 2,000
05558 HHEAN 2
400,000& «4B8F A +35 4,800
301 LAz 700 700 0
10 #AHAHIE A2 700 700 0
O&XI&Eat Bme 4T 24
7,000& «50& #23] 700
401 AIEHIZL 20 145,731 140,812 4,919
01 A& Bl 145,000 140,000 5,000
SESE MMZ FZHIALY 30,000,000 14 30,000
StEAM FHUl ¥ ZHIDI ALY (A=20ha)
20,000, 000& 20,000
OYSoHLHM(SLE) Mg 10,000, 000& *23l 20,000
OS=sE MSAE & BAAMNEE 2+
15,000, 0002 14 15,000
OB &E &K ==S0lAAS
10,000, 0002 14 10,000
OANsg 22l 10,000, 000& 14! 10,000
O&Es2 BUS &1 2 24
10,000, 000& * 14! 10,000
Os=&d8= sttel =Z& DAY
30,000,000& =14 30,000
03 AlE 2 THHI 731 812 A 81
OANSE SXZEAY AIE206I
145,000, 000& *0.72/100*70%<& 2> 731
o232 159,255 187,713 A 28,458
101 @14 dl 45,365 46,927 A 1,562
04 JIZHHZ2XRHESE S 45,365 46,927 A 1,562
ONE oIS ol Al
54,5003 x5& x 122 63| 19,620
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A ERAH D
HE: QAW S SYHS /LY - 4E)
ool MERERY EERED
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
S ENEERS CEEEET
54 500 x5H 252! 33| 20,438
o428 JI1a8<=2 40,058,000& *11.3% 4,527
Oelolzg &g=s 1Y 130,000 *3L *x23] 780
201 LBt | 9,250 9,250 0
02 2=2=24%H| 9,250 9,250 0
O3. A& & HI KX HI 9,250
-Helols& S X2l &l 9,250
e 1,700 %304 =100 5,100
g 3,500& %97 100 3,150
2Hd| 4= 2| 200,000& *53] 1,000
206 M = Hl 8,840 8,840 0
01 X2 4l 8,840 8,840 0
O0go2e SX&e MHHPRY (A 58)
2,000,000 2,000
O0E0Z22 dHolls2H LML (A= 3
=) 400,000 x38F A x4 = 4,800
O0E0Z22 E=x8H(3YYR)
1,700 %304 =40 2,040
401 Al HI L 2 THHI 95,000 120,696 25,696
01 Al&H| 95,000 120,000 A 25,000
Oglol=22 Hols2H & 8%
95,000,000& 95,000
405 XHAHF S HI 800 2,000 A 1,200
01 XAt 2 E F S| 800 2,000 A 1,200
Oulx 2l el 400, 000 *2CH 800
==l = =lyN]| 1,167,545 684,721 482,824
= 465,583
= 98,534
Al 603,428
AtEIHH S S 73,698 62,096 11,602
101 @121 d] 18,198 18,836 A\ 638
04 JIZtHIZ22XNSE S 18,198 18,836 A\ 638
OteEdals e o2t 54,5003 *10H *10L! 5,450
O™l E Ools L DASHA o124
54 5003 x 10 10 *23] 10,900
O4HEE I8 2 16,350,000 *11.3% 1,848
201 LBt ]| 6,500 9,780 N 3,280
01 AP 22| H| 3,500 6,780 N 3,280
O1. 2 bt=2H| 2,000
MY S e LBt S H| 2,000,000& 2,000
O4.101=24| 1,500
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AN RS0
Ha: YA UG (SPHSLL/YY - 4E)
Sl NYHAHB Y CERED
= - 4 14
SN EE B (BH) - HRAY - BES e Hl D= 2t
-MAEY EFZAR T=H 1,500
28= 110,000& 10X 1,100
ot 3t 35,000 »10=t 350
X 5,000& *10JH4 50
02 3322l 3,000 3,000 0
O3. Al ZHlI KXl 3,000
- (DA 0]) %2l 200,000& x53| 1,000
“HHBE(HIIS,WFI S) =el
100,000& *53] 500
-HHEH RRUH(ZR) 1,500& *1,0004 1,500
206 M= Hl 26,400 9,400 17,000
01 M= bl 26,400 9,400 17,000
OSZLEHSLH A2 21,000
—EEuee 23 300,000& 10t A 3,000
-ZH(ESAH) 10,000& =1,000£ 10,000
EtZel (&3 8,000& *1,000& 8,000
OMEEY A JNWHAL(XHHR 4F)
2,000,000 2,000
O2URTHESY HEZIAMA FFU(FLR)
1, 7003 «2E «104 =100 3,400
401 A& HI L 20l 20,000 20,000 0
01 A& HI 20,000 20,000 0
OsZYi =LA 10,000, 000& *23l 20,000
405 TtHabF S| 2,600 1,200 1,400
01 AL EFHSHI 2,600 1,200 1,400
O2URTMAEEY ASHHESEHI(GPS) 7
1,200,000& = 1CH 1,200
Oodgddois JI1Hs +2 700, 000& *2CH 1,400
S ESEMAE(EX) 714,775 487,826 226,949
= 405,733
< 90,817
Al 218,225
101 @124 ] 106,476 81,733 24,743
= 57,238
< 12,882
Al 36,356
04 JIZHHZ2XRHEE S 106,476 81,733 24,743
OWZ LM 86,476
v al:] 74,594 ,000& 74,594
= 42,798
< 10,969
Al 20,827
-AHEE J|&2RE3 11,002, 000& 11,002
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A ER4SE
HE: QAW S SYHY /LY - 4E)
Chelr AEEAHNS YN (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
-HEEMHME 22= 880,000& 880
2 440
= 113
Al 327
OIDAMSIT BT ALH 20,000
v ral:] 17,046,000 17,046
= 13,560
= 1,800
Al 1,686
-AHEE JI22RE3 2,514,000 2,514
~HAZAND 2= 440,0008 440
2 440
201 2et24d] 34,872 17,000 17,872
= 34,872
01 At 2teltl 19,872 14,470 5,402
O1.d8 =84l 3,168
-+ 24 (EEHl S) 3,168,000& 3,168
= 3,168
O4. 1] =l 3,000
—MEYEE SAR 222 3,000,000& 3,000
= 3,000
Ob5.= &l 4,704
—MHE Y S Y Ot 22X =S4
7,0003 x4 H «14L 122 4,704
= 4,704
O6.8 1tz 9,000
-2 N Xt Xt 9,000,000 9,000
= 9,000
02 3323l 15,000 2,530 12,470
OS3. A& &l Xl 8,000
~HHEH RF2IAH(TMI,01HE S)
5,000,000 5,000
= 5,000
-HEEsE SHMEH Al 3,000,000& 3,000
= 3,000
O4. Xt A eyl 7,000
- RSl 7,000,000 7,000
= 7,000
202 odl 4,800 3,000 1,800
= 4,800
01 = LH YI 4,800 3,000 1,800
Ot ol ES2 M =& W
60,0003 x4 H x4 «53] 4,800
= 4,800
206 T2 HI 26,528 1,201 25,327
= 22,528
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CHE - EI(BA) - NRAY - BYS

=
i

2

H

Al

1,200
2,800

01 M= dl

OAUSMHEESE 2H AHMH2E

“IAIIARES Y

Il EFXHTH &

5,000,000&

H

5,000,000

H

8,000,000&

= HnH

3,528,000&

H

5,000,000

H

26,528
26,528

5,000
5,000
5,000
5,000
8,000
4,000
1,200
2,800
3,528
3,528
5,000
5,000

1,201

25,327

401 AIEHIZ 2

= Hn

542,099

286,295
76,735
179,069

352,463

189,636

Ourxdall S M 2 el

tH
OttediSLYMAMY ALY

0!

. 2XNgd S) LHMA

2 40,161,000&

30,000,000

H

424,377,000

= W

= Hn W

44,000,000 * 14!

H

494,538,000 0.72/100

H

494,538

30,000
30,000

424,377

187,869
70,949
165,559
40,161

20,865
5,786
13,510

44,000
44,000
44,000

3,561

3,561
3,561

340,320

10,276

1,867

154,218

33,724

1,694

0z

FHE JIAEE 2 (2

x)

= N H

61,700

59,850
554
1,296

3,150

58,550

= N H

61,700
59,850
554
1,296

3,150

58,550
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SH: gRMAD
HE: AW U5 (sHoHLa/PH - ME)
S MAEHHS YN (9 ® =)
2 S 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 et EFFHSHI 61,700 3,150 58,550
Oarz M40l 7 & (YM-500C) 58,000,000 58,000
= 58,000
O UHEH FLOIHS2 28)
3,700,000 3,700
= 1,850
= 554
Al 1,296
MHEaSHERAAHE (EX) 13,873 13,874 A
< 4,163
Al 9,710
101 1A bl 13,873 13,874 A
= 4,163
Al 9,710
04 JIZHHNZ2Z 2RSS E+ 13,873 13,874 A
OMESHERA olAt| 12,090,000& »1H 12,090
< 4,163
Al 7,927
C4UEY JlaRd3 1,783,000 1,783
&S TH o Ofl 2 293,499 117,775 175,724
101 14l 47,799 32,635 15,164
M4 JI12ZHZEXNSES 47,799 32,635 15,164
O&ETHHAE X S=5=+ Al
54,5003 10 7 33 11,445
OALAERRIE Xl === M1 el A
54,5003 10 x8 23 8,720
OSUZAE RAES el
54,5003 x6H 7 43 9,156
O=dael oAyl 54,5003 1 «250 13,625
OAEdE JI&22R2E 3 42,946,000 *11.3% 4,853
201 L2l 18,150 7,900 10,250
01 At 22l 7,950 5,700 2,250
O4. 1=l 400
-MET S22 Y= (9,85 S) P
2 50,0003 8%t 400
O6.8xt=z 7,550
-ME Mo S =S5 FHYX 7,550
=240 400, 000& =7 CH 2,800
HZEH 400,000 *5CH 2,000
Jtn 3 el 550,000& 50K 2,750
02 3322l 10,200 2,200 8,000
O1.2323LHA 7,200
-S&Z HHEXE0l M3
100,000 6 A 12 7,200
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SH: gRMAD
HE: QAW S SYHY /LY - 4E)
S MAEHHS YN (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O3. A& & Hl* X bl 3,000
-SMZ ANEESES(0HHBEXE0l S)
3,000,000 3,000
206 = Hl 17,550 5,050 12,500
01 M2 4l 17,550 5,050 12,500
Otz Moo & S==57 MM 7 2,500
- 150,000 105 1,500
-&2 58 10,0002 = 1004 1,000
S&Z HNHBEXZ0 A28 7
10,000& 504 500
OsS&ZANE fXEx N 2L 2,550
-SMZ BHOAMES(AR) LR2
15,0002 = 1004 1,500
-SMZ BHOAMLES (M) HE
35,0002 *304 1,050
Oszzel Mg+ 12,000
-OHHEE EoYANE S 1,200,000& * 1094 A& 12,000
401 Al HIZ 201 8] 210,000 72,190 137,810
01 A& HI 210,000 72,000 138,000
OSdz MSAMES EF=SA
10,000, 000& 14! 10,000
OsZzel AtY 40,000,000& =14 40,000
OO A 81 AHALEH SR 3 At
140,000, 0003 * 14 140,000
O« Tl IE= MHAY 5,000,000 43 20,000
MHZHFENTHSHAMS (EX) 10,000 0 10,000
< 3,000
Al 7,000
405 XHoHF S HI 10,000 0 10,000
< 3,000
Al 7,000
01 AL EZFH S 10,000 0 10,000
Ot =H=EIL T HMAE FH 7
10,000, 000& 10,000
< 3,000
Al 7,000
HE2AZHI(EF &) (I1EHIIEH) 88,650 79,160 9,490
lFEIEHI (g A ) 24,570 0 24,570
S Mol e 24,570 0 24,570
101 @124l 24,570 0 24,570
03 I AHA2ZZ2HE > 24,570 0 24,570
O&XIoIExE EHF & 235 RY 24,570
-JleEs 47,000 *1H »313 14,711
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SN PR
M HHE2FAH(Z7 &-F ) (IIEH/IIEH
cHel: ol (4R

SH-HH . BAIH) - ABAMY - BES

—& 013 14,711,00020 1% +1/12+300% 3,678
SHEFEOM 14,711,000 %12 %1/ 12%120% 1,472
QR g 47,0002 +1% 152 705
“FE4Y 47,0002 #18 x50 2,444
~H oy Z ALY 130,0009! *1% 122 1,560
EELTCERS-h 64,080
e 3,940
01 et eyl 3,940
01 Ak 22l 3,940
ORN2Y L2t 3,940, 000%! 3,940
R T 55,440
202 01t 55,440
01 2Lhotbl 55,440
OFgYexx 20,0008 +21 * 112 « 122 55,440
EEE S 4,200
203 Y2 =T 4,200
04 RARYAREAY| 4,200
ORNSYLRETHI (B :24%)
350,002+ 122 4,200
RULSEHSY| 500
405 TH&HH St 500
01 AU 2B St 500
o 7 500,0002 * 1CH 500

=

i
2m
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2N HPALDED

M CRANES 2e(+SLUWE/E2)

S TZ2ANEE S22 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O3. A& &8l X bl 8,700
flEs HEZE2H? 3FB wA22 8,700,000 8,700
O4. Xt & A Byl 8,632
-2 (UE) 7,432,000& «1CH 7,432
SR HE 0SS S| 2l L Z At
600, 000& *23] 1,200
202 (4] 4,320 5,400 A 1,080
01 2L Y| 4,320 5,400 A 1,080
OAHEHE YRF=AAHYI
60,0003 *4H 32 x63] 4,320
206 T2 HI 97,000 87,000 10,000
01 & bl 97,000 87,000 10,000
Oxzd &g 2¢ 2,000,000& 2,000
OE=2ANEE B 7Y 95,000,000& 95,000
207 A O Y| 30,000 30,000 0
01 A2 &<l 30,000 30,000 0
OZUng HIIEZ &2Hl 15,000,000& *23] 30,000
301 dEtEAZ 51,501 78,320 N26,819
09 BUIRLRIBA= 51,501 78,320 N26,819
O3222aA(WFHE L HHHAT) 51,501
=23 97,500& *13H x12& 15,210
-= AlH| 7,000& *13H x222 x 128 24,024
- S| 2,400 #13H x22 x 12& 8,237
-1 = i 140,000& *13Y x23] 3,640
- =2 15,0002 x13Y 2 390
401 Al HIL 200 577,126 1,440,501 A 863,375
01 A& HI 573,000 1,436,620 A 863,620
OZ2U g AL 200,000,000& =14 200,000
ORZn HLOHMAC 73,000,000& *14] 73,000
OYAEWNR 6l HYUEZH 150,000,000 +14] 150,000
Odoratiel HYUtAE R 150,000,000 * 14! 150,000
03 Al& 201 Y] 4,126 3,881 245
OSZANEE X2l AELU]
573,000,000& *0.72/100 4,126
405 XtabF SHI 160,000 421,000 A 261,000
01 AL 2B F SHI 160,000 421,000 A 261,000
Otz Z&EE HH Y 160,000,000 1= 160,000
THATHOH M (B2 E A LA /TH LRI - 218H9]) 1,893,701 2,296,181 N 402,480
= 743,508
Al 1,150,193
AS4=ol XA 1,893,701 2,296,181 N 402,480
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L ERAEDSD

B WML (BSEA
SAREE=8=2uke PP R

a

oM /THEH T - 2

0L
4

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 743,508
Al 1,150,193
A ot&E FHI 372,511 350,950 21,561
201 LBt 1,192 2,140 A 948
02 =224l 1,192 1,140 52
O1.222ILHA 1,192
-AoMEEE AN £ERER 1,192
=P 1,900& *40024 760
2 2703 +1,600AH 432
202 O4dl 2,700 2,700 0
01 = LHA YI 2,700 2,700 0
Oltate dus ¥ HH2AULRFE o]
60,0003 *3H *x3 +53] 2,700
T AEHZXEUY 368,619 346,110 22,509
01 A& Hl 366,770 343,500 23,270
O=0Ix=H 2 At2el ZEMIIZ& FHHIZAH(L=150
m) 105,590
—AAIEAHESA 100,000,000& *5.59/100 5,590
-Al & Hl 100,000, 000& * 14 100,000
OREBES gxel YEA HUl=AH(L=100m) 105,590
—HANEHESA 100,000, 000& *5.59/100 5,590
-Al & Hl 100,000, 000& * 14! 100,000
OREEZS #EXEC N=& ZHISA 105,590
AANEHES 100,000, 000% *5.59/100 5,590
-Al £ H 100,000, 000& * 14 100,000
OZU 406t& AMEE SAES
50,000,000& » 14! 50,000
03 A& 2 THHI 1,849 2,610 AT61
OAotE FHIAMY AIE201d]
366,770,000& *0.72/100%70%< & 2> 1,849
A0t HHI(BEX) 1,490,764 1,917,027 AN 426,263
= 743,508
Al 747,256
401 A& HIZ 2018 1,490,764 1,917,027 N 426,263
= 743,508
Al 747,256
01 A& HI 1,487,016 1,911,578 A 424,562
OFELZES SHAE ZH3A
352,884,000& 14 352,884
= 176,442
Al 176,442
OFJIIH =8 FHISAM
1,134, 132,000& 14 1,134,132
= 567,066
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2N

4PHEDED

=]

FH: NN (SSEM L /TS - 2129])
el M XINA (ol m2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 567,066
03 Al S THHI 3,748 5,449 A 1,701
OActE ZHISAH AlZ 2 0HHI
1,487,016,000% *0.36/100+70%<& 2> 3,748
O & THoff Ol 2 30,426 28,204 2,222
201 Let24E] 15,676 16,204 A 528
01 At 2t 2l 11,296 12,824 N 1,528
O1.det=2Hl 4,000
Xl & THOHCHE AL DI Et=SHI
4,000,000& 4,000
O5.2 &l 2,016
M SRFE OFAZRXN SA
7,000 «3H 8L «12& 2,016
06.9xt= 5,280
-MoHHESSEE s
440,000 20 x6 2 5,280
02 2324l 4,380 3,380 1,000
O3. A& EHl s Xt 4,380
—MHoHCHE 2 ==D] S XI22ldl  100,000& 20CH 2,000
-2=)0Es8 |KERU(HER)
1,700& 204 *35CH *23] 2,380
206 M= Hl 12,000 12,000 0
01 MHZ 4l 12,000 12,000 0
O=2XM & (PPZUL) 12,000, 000& 12,000
405 THabH S| 2,750 0 2,750
01 XA = ZFH SHI 2,750 0 2,750
Ov&g&A=z=20d P2¢ 2,750,000 *1H 2,750
HHE2AZH(EFHE RS (IIEH/IIE) 496,564 491,749 4,815
< 36,960
Al 459,604
AHEIEH(E 7 A&nsE) 448,724 431,919 16,805
< 36,960
Al 411,764
X Fole 2| 41,824 41,741 83
101 @14 Hl 41,824 41,741 83
02 JIEt A2+ 41,824 41,741 83
O X (AZ2HH 'OH'sS:8aHE) 40,964
- 17,796,450 2% x32/40 28,475
“A2H R 2R 3,005 «2H x10Al 2t+ 128 722
IE=g 2,016
PN 40,000& =298 122 +32/40 768
JIEILS 20,000 x5 128 x32/40 960
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SN HPALDED
M HE2GFU(E S 1) (J1EH/JIEH)
ol o2y (27 ALDSD) SREED
SN FHE - B(SA) - MEAY - BHES il 2
Dbk 30,000 x1H 128 x32/40 288
=] 105,000& »2H 128 x32/40 2,016
-JUg 130,000 x2H »12& 3,120
-HItE
1,186,430 x2H x84%*86%+ 1/226 Al 2t x60 Al 2+ 456
-AHEH =41 36,805,000& *11.3% 4,159
Os8:& A ZERI A 2F 2 T =4 860
=28= 130,000& x2H x23| 520
-gsts 130,000& »2H 260
-2 Xt 5,000& 24 10
-&t3t 35,000& x2H 70
fAHE 2 406,900 390,178 16,722
= 36,960
Al 369,940
101 1A bl 406,900 390, 178 16,722
< 36,960
Al 369,940
03 RIH%Z 2= 406,900 390,178 16,722
Okz+=2d 399,700
== 49,5003 *12%H 313! 185,922
= 36,960
Al 148,962
-& 03 15,494,000 * 12 »1/12%300% 46,482
- E SOt 15,494,000 & *12 *1/12%120% 18,593
PN = 49,5003 12«18 10,692
=5 49,500% * 12 x52 30,888
g 25,000 x 12 «12& 3,600
-tEsg 100,000& x12H »12& 14,400
- MG Al 130,000& x 12 «12& 18,720
S P P = 49,500% * 12 6 » 128 »50% 21,384
-2 15,494,000 12 »1/12%25%*23] 7,747
—2tAlH| 50,0003 *12F x12& 7,200
-l 30,0003 x12H x12& 4,320
-5222Y 49,500 <12 x150%2 L « 122 21,384
-AHEH B2 7,168
sSsh 448,000 x4H 43 7,168
“BHEEARAY 100,000 x1H 128 1,200
O&Ez=+23d I=d| 7,200
-AA s 130,000& 12X x33| 4,680
-gets 110,000& 12 1,320
-9 10,000& 12X 120
-& 5t 15,000& 12X 180
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2N

G H=X A Y

HaM: ™2 (ZEYX GRS /R ELEZ Al
& SsFX A2 CEERED)
(o
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
SSHOIX A2 154,060 127,588 26,472
X & zZ2| 97,991 84,760 13,231
101 Q124 4| 15,580 13,107 2,473
04 JIZtHIZ2Z2XNEE 15,580 13,107 2,473
OEXOISA SHHUBA 22X o1A4H|
38,8803 x2% 90 6,999
OXNEERE A ZAEX olH4H|
38,8803 x2% 90 6,999
O4HEE I8 2 13,998,000 *11.3% 1,582
201 et d| 23,371 22,413 958
01 AP 2t 2] H| 19,376 19,413 N37
O1.B8t==H| 14,000
-XNEHLR2FX J|EF=E2H| 10,000, 000& 10,000
-ANEAI2E ZElI] L SA)| A2
2,000,000& 2,000
SNHFAEE FHE B2H ARBIY(E
H2l) 2,000,000 2,000
03.2g89x4% 3,360
“ZREXNSHIINL 2g+Y
70,0003 x6H *83] 3,360
O5.2&H| 2,016
NE ALEX OIA2LR B4
7,000 x3H «8L x12& 2,016
02 2224 H| 3,995 3,000 995
O1.2Z22=a<L Al 995
-EREANZEEYYE VE EYS
1,990 50021 13| 995
O3. A& & H| S XYl 3,000
-XN&E=S=AH A2 500, 000& *x2CH x23l 2,000
-E2H&H SA&2 500,000& x1CH *23] 1,000
202 o4 | 2,700 4,200 A 1,500
01 2L I 2,700 4,200 A 1,500
OEXOISAEZA & XNESEE XN ZAIF=EN
ul| 60,0003 »3H 3 53] 2,700
401 AlEHIZL 201 Y| 56,340 29,040 27,300
Al & H| 56,340 29,040 27,300
OXNE=ZHI=EH(NEEZZ2HE) &AX
288,000 *50& 1.1 15,840
OXNEIIZ2SHAG (20128 MHA=2ANEQ 2
=) 15,000, 000& =141 %11 16,500
Ouolsg g XN&EtHE Al 800, 000& 304 24,000
ARdES 56,069 42,828 13,241
101 Q124 H| 21,637 10,240 11,397
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D ERAEXE L

CAEZ(ZELNGMNL /XY

P SEFAUXF 2

L Al)

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 JI2ZtHZ22HEE =+ 21,637 10,240 11,397
OASAOE ot ol Ay|
38,880& x1H x250 9,720
OXAES Qe g X oA
38,880 x1H 250 9,720
C4liE" JI2RES 19,440,000 *11.3% 2,197
201 Let249] 29,032 26,108 2,924
01 At 2teltl 29,032 26,108 2,924
O1.det=2H| 25,000
-XNELRFE J|E =Sl 10,000,000 10,000
-NEeIY HRIE) AR P
3 000,000& 3,000
-JEAMeE SAEX FL(EXNUHEL 78)
8,000,000& 8,000
-EX0IEHER L2 A4 2,000,000 2,000
~SANEET 2Y 225 7Y
2,000,000& 2,000
O5.2&Hl 4,032
XY LEA V22T B4
7,000 «6H x8L « 122 4,032
202 044l 5,400 6,480 A1,080
01 = LH &4 1l 5,400 6,480 A 1,080
ORssagY HEI A L 2500
60,000 «6H 32 53] 5,400
2 Al X ot 22| 122,855 144,340 A21,485
SAIXIDL 22l 122,855 144,340 A21,485
101 @14 Hl 20,774 20,480 294
04 JIZHHZ2XREES 20,774 20,480 294
OMESAIXI It S &=l el 2|
38,880 «2H 70 5,444
OMNESAIXI I Mot QIAHI(SHS)
38,880 x17H »x20 13,220
O4li2E JIARES 18,664,000& *11.3% 2,110
201 et 98,381 118,780 220,399
01 At 22l 97,051 100, 345 A3,294
O1.det=EHl 91,819
-HE 3 AKX AAl |01 100& *5,00000 x2F 1,000
-HE S AKX & ==2 M
50,000& %174 2 23] 1,700
-ZIIZAE KOt EEH ME
8,900& *3,600% 2t *50% 16,020
-HEIAE KOt EEd ME
8,900 800 % 2f 7,120
“SAXI BEF=+E 57,779




SN LRASNRDY
o R (IELNSHL/NSLTA)

CHRl: Z A X222 (2 &HH)
4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
GBNINEE~4=
38,200 154, 000Z! /55%50/100%1/2*1 .1 29,414
Byuas+4+=2 28,365
* M E X
38,200& *50%*30%*2 ,500&! X| *1.1 15,758
* O A M= 38,200 x50%*250% X| *1.1 5,253
*x 0|2 Al A 38,200 *50%*350&! X| *1.1 7,354
-HEREEZ2 HEHI &0 292 2|
1,000,000& *53] 5,000
SOHEREE X 2 448
400, 000& *2JH A *4 3] 3,200
O4.1]1=24| 1,200
-EXNAHAHGIN Y IjeEEed2 SEdE=H2 1
=0 1,200
ESge = 150, 000 »3H x23| 900
° OtM 3} 50,000 3% x23| 300
O5. 24| 4,032
“BAKD BERADL SA(SHS)
7,000 16 9L %x23| 2,016
SRSNED GRXE 022N 24
7,000 x3H x8L x12& 2,016
02 B232%H| 1,330 18,435 A 17,105
O1.2Z22=2L Al 1,330
-0loAE £ HAZBEX BRI
1,900& 7004 1,330
202 044l 2,700 4,080 A 1,380
1 =2 Wyl 2,700 4,080 A 1,380
OHgRa2 #E XA (4l
60,0003 *3H 32 53] 2,700
301 et A= 1,000 1,000 0]
12 JIEtE & =2 1,000 1,000 0
OEXIHHB I AFE 22 Al BA2
00,0008 *224 1,000
HHSHAAH (YR ASXE ) (IIEH/DIEH 71,550 76,669 25,119
Jl2dgl(g? A5 &1H 71,550 76,669 A5,119
N894l 5,930 13,389 AT ,459
201 gEt24Ay| 5,930 13,389 AT ,459
01 AP 22| d| 3,650 10,785 ANT,135
OFNMSY LBt=Z2H| 3,650,000 3,650
02 2% H| 2,280 2,604 N 324
ORGIAH=ESENAHD & o|HLMSEUASRH
= 1,900& x1004 *12& 2,280
HAR2=X0H| 60,720 58,080 2,640
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FN: ERASIH L
H: HH2IAH(ZRASXED)(IIEHIIE)
el J23H(g7 A=AEY) (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 o4dl 60,720 58,080 2,640
01 = LH o4 1l 60,720 58,080 2,640
FRAPFN MUl 20,0003 x23F 11 128 60,720
e 4,200 4,200 0
203 YR =&t 4,200 4,200 0
04 EASIYRFLEH| 4,200 4,200 0
ORN2IEFAH (ZR:23Y)
350,000& »12& 4,200
et 2 2 S HSHI 700 1,000 A 300
405 RHoHE S HI 700 1,000 A 300
01 AL EZFH S 700 1,000 A 300
Od&ED(AMRA)2Y 700,000& = 1CH 700
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